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'look

Kool

Do

If Ehour = 25 Then

FPORTC.0 = 1 : PORTC.1 = 0 : PORTC.2 = 0 : PORTC.3 =100

PORTA = &B11111101

FORTC. 4 = 1

Vaitms 1

PORTC.0 = 0 . PORTC.1 =1 . PORTC.2 = 0 . PORTC.3 =10

PORTA = &B11111101

FORTC. 4 =100

Taitms 1

PORTC.0 = 0 : PORTC.1 = 0 : PORTC.2 = 1 : PORTC.3 =100

PORTA = &B11111101

FPORTC. 4 = 1

Taitm=s 1

FORTC.0 = 0 : PORTC.1 = 0 ; PORTC.2 = 0 : PORTC.3 =1

PORTA = &B11111101

PORTC . 4 = 1 Al 0ais SoS Celu 4 (50 40 (30,5 SgS (Gain 4 99,5 b Ceomd (] 5o
Taitm=s 1

Elseif Khour <> 25 Then odd S8 Hloy Dygan] 5 10 05d oo osls las Kisled g9, p—i—
K1 =0 : F = Ehour

¥Yhile F >= 10 gl g0 00l iolad
F =F -10 : Incr Kl

Tend

K2 = F

K3 =0 : F = Enin
¥Yhile F >= 10
F =F -10 : Imcr K3

Tend

K4 = F

PORTC. 0 = 1 : PORTC.1 = 0 : PORTC.2 = 0 : PORTC.2 =0
PORTA = Lookup(lkl . Humber)

FOETC. 4 = 1 : Waitms 1

PORTC. 0 = 0 : PORTC.1 =1 : PORTC.2 = 0 : PORTC.3 = 0
PORTA = LookupilZ . Humber)

FORETC. 4 = 0 . Waitms 1

FORTC.0 = 0 : PORTC.1 = 0 : PORTC.2 = 1 : PORTC.3 = 0
PORTA = Lookupil? . Humber)

FORETC. 4 = 1 : Waitm=s 1

FPORTC. 0 = 0 : PORTC.1 = 0 @ PORTC.2 = 0 : PORTC.3 =1
PORTA = Lookupild . Humber)

PORTC. 4 = 1 : Waitm=s 1

End If



If Stoplkey = 0 Then

E‘iﬁ: . EI= .1 I-_'Crh‘:n':lugnn 25 : Emin 1] 15 s Sygo 5 s ol 4
PORTC.0 = 1 : PORTC.1 = 0 : PORTC.2 = 1 PORETC.3 = 10 ETER R .
PORTA = &B11111101 OAEL P on S s
Egl?iTtCl- 54 1— 1 Jid i 1, S5« Stopasss
PORTC.0 = 0 : PORTC.1 =1 @ PORTC.2 =10 PORTC .2 =10 8,5
PORTA = &B11111101

FORTC . 4 = 100

Vaitm=s 1

PORTC.0 = 0 : PORTC.1 = 0 : PORTC.2 = 1 PORETC.3 = 10

PORTA = &B11111101

PORTC . 4 = 1

Vaitm=s 1

PORTC.0 = 0 : PORTC.1 = 0 : PORTC.2 =10 PORTC .3 = 1

PORTA = &B11111101

PORTC . 4 = 1

Vaitm=s 1

Hext I

Goto Sta

El=zeif Setkevy = 0 Then
Vaitm=s 300

Exit Do

End If

Loop



Lo

F =Kl = 10 . Khour = F + K2
If TIp = 0 Then

If Khour ¢ 22 Then

Incr Ehour

El=e

Khour = 0 .. . " .

El 1f D = 0 Th ..
IfSI?I:'::Iur D;mEI Then o 355 il | 05 SsS e

Decr Ehour

El=e

Khour = 23

End If

End If

Kl =0 : F = Ehour
Thile F := 10

F =F -10 : Imncr Kl

Tend

K2 = F

For I = 1 To 30

PORTC.0 =0 ; PORTC.1 = 0 . PORTC. 2 = 1 PORTC.2 = 0
PORTAE = &B11111111

FORTC. 4 = 1

Taitm=s 1

PORTC. 0 =0 : PORTC.1 = 0 @ PORTC.2 =1 PORTC .3 = 1
PORTAE = &B11111111

FPORTC. 4 = 1

Taitm=s 1

FPORTC. 0 =1 : PORTC.1 = 0 @ PORTC.2 =10 FORTC .3 =0
PORTA = Lookupilkl . Humber)

FORTC. 4 = 1

Faitms 1

PORTC. 0 =0 : PORTC. 1 = 1 @ PORTC. 2 =10 FORTC.2 =0

FOETA = Lookup(lk:? . Humber)
PORTC .4 = 1

Paitms 1

Hext I

If Setkey = 0 Then

Waitms 300

Exit Do

End If

Loop




Do

F = K3 *= 10 : Emin = F + K4

If Tp = 0 Then

If Emin < 59 Then

Incr Emin

El=se

Emnin = 0

End Tf 20,00 dBB8Y g3 Comd ol 4o
Elseif Down = 0 Then A 2050 4522 O o0 >
If Emin > 0 Then 3,5 wudali 1) 50,5 S5 (sl
Decr Emnin

El=e

Emin = 59

End If

End If

K3 =0 :F = Enin

¥Yhile F »= 10

F =F -10 : Imcr K3

Yend

K4 = F

For I = 1 To 20

PORTC.0 = 0 . PORTC.1 =1 ;. PORETC.2 = 0 . PORTC.3 =10
FORTA = &B11111111

FORTC. 4 =100

Taitm=s 1

FPORTC.0 = 1 : PORTC.1 = 0 : PORTC.2 = 0 : PORTC.3 =100
PORTA = &B11111111

FORTC. 4 = 1

Taitm=s 1

FPORTC.0 = 0 : PORTC.1 = 0 : PORTC.2 = 1 : PORTC.3 =100
FORTA = Lookupil3 . Humber)

FORTC. 4 = 1

Taites 1

PORTC.0 = 0 : PORTC.1 = 0 : PORTC.2 = 0 @ PORTC.3 =1
FPORTA = Lookupi(kd4d . Humber)

PORTC .4 = 1

Vaitms 1

Hext I

If Setlkey = 0 Then
Vaitms 200

Exit Do

End If

Loop

For I

FORTC .

FORTA

PORTC . 4 =

Paita=s 1

FORTC .0 =

PORTE = L

PORTC . 4 =

Paitms 1 - n | ails

PORTC. 0 = 0 : PORTC.1 = 0 : PORTC . 2 = 1 : PORTC.3 = 0 w0 oo 5k e Sy

FORTA = Lookupi(lk3 . Humber)
1
L
1

=1 : PORTC.1 =0 : PORTC.2 =0 : PORTC.3 =10

PORTC.1 = 1 : PORTC.2 = 0 : PORTC.3 = 0 Sz 0l eas oy o (gl 5o

(u] kﬁp{kE . Humber)

DDD

PR ool ‘}'JLQJ JAIS Sygo A rn)y]

PORTC . 4
Faitas=s
PORTC . 0O
PORTA =
PORTC . 4
Taitms=s
Hext I
Return

0. PORTC.1 = 0 : PORTC. 2 = 0 : PORTC.3 =1
ookupi(ld . Humber)



'ring

Fing:

Kl =0 : F = Khour
Thile F := 10

F=F -10 : Incr Kl
Tend

K2 = F

K3 =0 : F = Emnin
Thile F := 10

F =F -10 : Imcr K3
Tend
K4 = F
Do
For I
FPORTIC .
PORTA
PORTC .
Faitm=s
PORTC. O
FORETA = Lookup(l? . Humber)

= 1 To 90

n

= Lookup(kl . Humber)
4 1

n o

If Stopkevy = 0 Then

Dat = 0 : Khour = 25 : Enin = 0
Taitm= 350

Goto Sta

End If

Hext I

Sound Speaker . 180 . 500

Loop

=1 : PORTC.1 = 0 : PORTC.

0 PORTC.1 = 1 : PORTC.

FORTC .4 = 1

Taitm=s 1

FOETC. 0 = 0 : PORTC.1 = 0 : PORTC.
FOETA = Lookup(lki . Humber)
PORTC .4 = 1

Taitm=s 1

FORTC. 0 = 0 FORETC.1 = 0 . PORTC.
FORETA = Lookup(ld4 . Humber)
FORTC . 4 = 1

Taitm=s 1

FOETC. 0 = 0 : PORTC.1 = 0 : PORTC.

el @

Sy 19 0ad 568 ol Sl 5l
ol Lxiyl 50 magd (oo S ol )y
Sy & Sialed azio o V1

Oles B o VTl (oo 50 05 Soiir

WS o lay dslol STOP oS o 28

PORTC.2 =0
PORTC. 3 = 0
PORTC.2 =0
PORTC . 3 = 1
PORTC.2 =0



